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1. In each of the following situations, why are firms likely to benefit from vertical integration?

a) A grain elevator is located at the terminus of a rail line.

b) A manufacturer of a product with a national brand name uses  distributors that arrange for advertising and promotional activities in local markets

c) A biotech firm develops a new product that will be produced, tested, and distributed by an established pharmaceutical company.

2. Consider two different sorts of transactions between a buyer and a seller. In both transactions, the buyer can potentially choose between many vendors at the initial contracting stage. Both transactions involve relation-specific assets. In the first sort of transaction the relation-specific assets are physical assets (e.g., specialized presses and dies). In the second sort of transaction, the relationship-specific assets are human assets, such as expertise and know-how about the production process. Without knowing anything further about these two different sorts of transactions, why would we expect that vertical integration is more likely to be chosen for the transaction involving human assets than for the transaction involving physical assets?

3. The following is an excerpt from an actual strategic plan:

"Acme's primary raw material is PVC sheet that is produced by three major vendors within the United States. Acme, a small consumer products manufacturer, is consolidating down to a single vendor. Continued growth by this vendor assures Acme that it will be able to meet its needs in the future."

Assuming that Acme's chosen vendor will grow as forecast. Offer a scenario to Acme management that might convince them that they should rethink their decision to rely on a single vendor. What do you recommend Acme to do to minimize the risk(s) that you have identified? Are there any drawbacks with your recommendation?

4. Trade barriers between European nations continue to fall. Many experts believe that this will allow businesses in different parts of Europe to merge. What effect, if any, will this have on competition with U.S. and Japanese firms in Europe and elsewhere? Does your answer depend on the industry under consideration?

5. How is expansion into new and geographically distinct markets similar to diversification? How is it different?

6. Use both the stockholder and stakeholder models to analyze and resolve the issues of the Poletown case discussed by Goodpaster. Under what circumstances would both models lead to the same conclusion? What approach do you prefer? Defend your choice.  

